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— nR2wnn by InawsT
You have responded to us concerning the pregnant woman.

OVERVIEW

The X713 cites a X112 which quotes a (rather lengthy) dialogue between the
(X"712"7) P"n and °"1. The XM explains the Xn>>72; that at one point the p"n
seems to concede to °"7. The p"n states that; ‘you have effectively responded
to us concerning a pregnant woman’. It seems inconceivable that the p"n
actually agrees with "7 concerning a n72wn, for in the 7I1wn there is a
dispute between X"713"7 and °"7 (even) concerning a N12WA.

The X3 also states that °"7 maintained that 72w 17 n727n. This
seemingly indicates that just as a '7™2w is not believed to say >n%ya1 &9, the
same applies by a n727n. This conflicts with other statements made by 12010
(and the X7713). Our Mo0IN addresses these two issues.

- 9AWY NONT XY NI NP NI DYNT XN 11919 2199
The explanation of the phrase 121 1n2w:, is not that the X»p Xin actually
agreed to the response of "7, but rather what they meant to say is that
although we still disagree with you even by a n72wn, for according to us it
is understandable that a n121v7 is believed to claim °n%y21 9w3%, (not as you
(>"7) maintain), for a promiscuous woman verifies that her consort is >
and then she is promiscuous; she has a choice with whom to consort,
therefore she is mnmo» 7wd,” and the n72w» is not comparable to a

captive; who has no choice, but must yield to her captors, therefore it is presumed that

she was 177921 to her captors, which disqualifies her for 72175 —
= 9291 NN NI2D 71 9 59DT 77990 NON

however according to you (°"1) that you disagree with this logic of 7wx
7T NPTI2 7aT2; "' maintains that there is no difference between a 7712w and
a n72wn, and both are presumed to have been 21057 77%v21, and therefore

Nn0% MY0D; so, granted by a n931wn, that she will not be believed noya1 “wab,
according to your logic, since she was 719v21 °k. It is the same as 7M2w. We appreciate

" A 712w is a woman who was held captive by non-Jews. It is assumed that she was 7721 by them. She is
subsequently 37757 710K (even if she is a 7m19). If her husband was a 7772 she is 75¥2% 70K,

? The term w10 (or %2), generally indicates that the meaning is different than what a cursory reading
would indicate.

? See ‘Thinking it over’ #1.
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(although we disagree with) your view —
= 1919 ROINY DY PN DY DY VI 1T WIDN W 79927 99D 19N 931 Yan

however in the case of n937» even according to your opinion there is a
difference between a 72w and a n727» for by this one (7"12w) there are
witnesses the she was 72wi, which presumes 7X°3, since she is a 7"2w,
however by this one (17271) there are no 7X°2 37¥; therefore she should be
believed when she claims >n%v21 2w>Y for there is a 93%; she could have claimed

n7y21 X7, In essence the "N says to °"1 we can see your point concerning a N12Ww» (even
though we disagree with you), however how can you argue with us concerning a n72717?!

mooIn continues quoting and explaining the Xna.
- NY¥a) KXY 91217 NN NN NMAYY D) 1AV 1)1 NY3TH 0NHY 9N

He (°"1) said to them that even n937% is the same as a 7%3w; they are both
equally presumed to have had 7%°2 and just as a 73w is not believed to

claim I was not ;79Y21; we assume that she was 79v23 and is 17799 710X —
= NPT DINIVIAN PRY 29D 9371 ) 99N

The same applies also for a nm27%, that we assume that she was 7%¥21; even
if she claims °n%ya1 X7, for there is no supervisor concerning illicit

relationships. There is no one preventing them from having 7%°2. The assumption is
(as by maw), that if there was 71 there was 1X*2.

mooIn anticipates a difficulty. According to this explanation; >"7 maintains that in a case
of 77noy, if she claims >n%v21 XY she is not believed.
= TP RY 91217 NINNRI YWIND 23957 D3yD 5PWr997 INID 191 XY NT YWIND 1119)

However this explanation cannot coincide with what I have previously
explained” that according to *''7 she is believed to claim “nbya3 5.

mooIn responds:
= 122V 1)1 N2 PHTA PNYY 1329 YD)

And the >''1 reluctantly explained that the phrase 72w 1977 n927H, does

not mean that just as a 72w is not believed to claim *n%y21 X9, similarly a n127» is not
believed to claim >n%va1 KY; this is not true. If there were only 777 7y, she is believed to

* There is a npY2r between °¥1 and *oX 21 concerning the meaning of N127». >y maintained that it means
77001 while "OX 27 maintains that it means 72¥21. This Xn>11 is cited to refute oK 27 and prove that n127A
means 77N03; there were no X2 7y.

PRI (7" ,27) 7"7I0 K3 7. Moo brought a conclusive proof that *n7ya1 X7 is NNl according to " from
the X773 in the beginning of (X,10) "1 P15 where it says 'RI3°7n *nNPva1 R? K *va K7 See footnote #8 in
(X,2°) PRI "IN,
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claim °n%y21 X% and remains 71707 77WwD; we do not assume that there was X2, Rather
the phrase 72 1170 D27 means —
- YA nPINa N1 92 N9 nPINa NNAYY 10T

that just as a 7m2w is presumed to be a 77912, so too is a n127» presumed

to be a mWwa (before she makes any claim, we presume her to be a 72w3), this

presumption is relevant —
= )12 NN NINY INYYAY TV NN ORY PIyd

regarding that if she claims "nby21 =w>% that she is not believed even

though there is a a2 that she could have said ®n%v21 X7 (and had she said *n%y21 X, she

would have been believed [as opposed to a 7"12w]). The reason the 17 is not effective, is —
= 1993 1159 13%2UN ROT NIYY DIDIDIAN JPNT 2NIN 991D) INTYAI XY 9D INPY 29D

because she is ‘afraid’ to claim “noya3 89:° she senses that the claim of X9
nya1 is a mockery, no one will believe her, and this is what the ruling of
N Y 9I191LIR PR accomplishes that we do not consider the claim of &>

*NHYA1 as a WA, The fact is that she was 79921, as she herself admits that *nbya1 (wa»).
She cannot imagine that people will believe her if she claims *n%v21 X7, since DIDIVIOXR P
nyayY. This is considered that she has no 1, and therefore she is not believed.’

SUMMARY

The phrase n72wn1 ¥ 11n2wn means that you have defended your position
concerning N12w» even though we disagree with you. The phrase 11°°77 n7277
72w means that there is a presumption of X2 in either case.

THINKING IT OVER

1. The p"n claims that (even) by a n72wn she is believed that °n%ya1 qwob,
since 71111 NPT A1 AwWX. By a n12wn, however, there is a possibility that
she was 101X1, where she loses the 7P of "3 71tn AWX. Why is she believed?®

2. MdOIN seems to be saying two reasons why there is no 2. One: because
she is W32 NP3, and two: because she is reluctant to claim *n5v21 89.” Are
two reasons required!?

® See “Thinking it over’ # 2.

7 The p"n maintains that even a n12w» is believed to claim *n%y21 9w (although she has no wa [of X2
*n7y21]) since 7MY NPT 7 wR. However " maintains that even by 71001, where there (seemingly) is a
11 of *nHya1 XY, she is not believed to claim *nya1 2w>Y, for she will not willingly claim (falsely) *n%y21 X7,
since NYIYY DIDVIBR K.

¥ See footnote # 3. See 21 MR 7"0.

? See footnote # 6.
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